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1-The use of children in hard work raises difficult ................. questions.
1. anonymous 2. cumbersome
3. ethical 4. diligent
2-The organizational investigation showed a lot of financial ............ within top managers.
1. abuse 2. warranty
3. autonomy 4. corruption
3-The company's .......ccceevverenne investigated shareholders' documents for fairness. Finally they
uncovered some facts.
1. employees 2. inspectors
3. members 4. investors

4-Social responsibility in an organization regarding their employees deal with respecting their............

1. dignity 2. promotion

3. shortcoming 4. transaction
5-Todays, many banks charges a fixed rate for each financial ...................... .

1. information 2. transaction

3. simulation 4. recognition

6-There are a lot of multi-corporation with more than billions cashes in ............. .

1. frames 2. billings
3. assets 4. database
7-The company's managers found ................ in the financial reports presented by two groups of
inspectors at the end of year.
1. discrepancy 2. deficiency
3. affinity 4. durability
8-The most important reason for the high ............... in an organization depends on its low pay
accounts.
1. performance 2. output 3. mainstream 4. turnover
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9-They made a(n).................. organization which seems to be more efficient with no waste.
1. integration 2. overhead 3. lean 4. morale
10- Lots of shops in big cities offer an amazing range of expensive .............. which needs to be
controlled by government.
1. alliance 2. merchandise 3. structure 4. teamwork
11-The manager tried to ...........ccu..u.... a group of experienced experts to do a great job to solve the
organizational problems.
1. release 2. disband 3. achieve 4. convene
12- The necessary training begins with a thorough ............... of the condition of the company's
employee's.
1. appraisal 2. promotion 3. bias 4. coaching
13-The ...cevveereenee of organizational activities in terms of employees' ability, requires hard work.
1. expertise 2. documentation 3. assessment 4. ranking
14- An organizational appraisal system needs some ...........ccceeuueu..e. in order to assess the employees'
performance appropriately.
1. accomplishment 2. improvement 3. management 4. commitment
15-A s of opinion among those who assess the performance of workers is necessary and
vital
1. dimension 2. distribution 3. merit 4. consensus
16-The teamwork ................. performance made every manager surprise. They were not expected to
do such a work.
1. fair 2. sophisticated 3. outstanding 4. discriminatory
17-The....ccueue. of the source of information is under question by the company's inspector.
1. reliability 2. warranty 3. totality 4. facility
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18-The property of the merchandise was found to be free from ............... .
1. enhancements 2. involvements 3. defects 4. slogans
19-The knowledge of the researchers enhanced their ...................... as the most famous figures in
scientific issues.
1. consistency 2. conformance 3. lawsuit 4. reputation
20-During the recent earthquake, the .......................... influence of mass media and internet access
made people denote a lot of necessary items to those who lost everything.
1. pervasive 2. competitive 3. reliable 4. absolute
21-There are a lot of calls for an end to unethical .................. against some countries.
1. competition 2. aggression 3. fund 4. avoidance
P | 1 1= and permanent criticism cause a lot of mental and behavioral problems for
children.
1. compatible 2. constructive 3. destructive 4. cooperative
23-Unskilled workers are unable to........................ between necessary things to do in their jobs.
1. evoke 2. mushroom 3. provoke 4. differentiate
24-The new employees are .................. to confuse the complicated issues of their jobs.
1. apt 2. determinate 3. awash 4. frank
25-The customer claimed .................. from the company for the damage caused to his product.
1. compensation 2. corporation 3. coordination 4. competition
26-The company's shareholders blamed the new manager for the company's unreasonable................. .
1. rivalry 2. subsidiary 3. finance 4. performance
27-1t was no longer financially ...........cc......... to keep the business center open.
1. applicable 2. feasible 3. interchangeable 4. easy
28- Most organizations are reducing their .................. because of economic recession.
1. workforce 2. diversity 3. vision 4. approach
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29-The .....cceeeeeneee of the new leadership make the situation worse for the whole organization.
1. accuracy 2. alignment 3. inflexibility 4. proximity
30-He has experienced ................... economical career since last year. He nearly has lost his interest.
1. consistent 2. compatible 3. determinate 4. turbulent
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